

# Dilution Solution Dispensing Systems

CABINET • PORTABLE • CONCENTRATES









# Chemical Dispensing Made Easy Dilution Solution Dispensing System with Cabinet

The newly designed Maintex Dilution Solution System offers a sturdy Dilution Solution Cabinet and a Portable Dispensing Unit. The Dilution Solution Cabinet offers a simple design with half-gallon size containers for guick and easy use. Each product is heat sealed for your protection and contains a tip in bottle design for accurate dilutions. Dilution Solution features 27 different concentrated products, including 4 Disinfectants, 5 Safer Choice and 5 Green Seal formulations. These products were designed to meet all your cleaning needs delivering value priced ready-to-use chemicals.



#### Features: Safetv:

- Tamper Proof containers & cabinet
- · Locking cabinet with selector dial for safety
- · Color coded & Numbered products for easy training and view
- Built-in backflow preventer

#### **Product Performance:**

- Concentrated products for difficult cleaning tasks
- Accurate dilutions for effective cleaning

#### Flexible:

- Range of products to meet your needs
- Available with Cabinet or Portable Dispensing options







Bucket Fill is made easy

Fast equipment fill

Convenient and safe bottle fill

Part# K7407117

#### **Markets**

- Education Institutions
- Healthcare
- Office Buildings
- Casinos
- Fitness Clubs
- Entertainment Venues
- Industrial Facilities
- Municipalities
- Transportation
- Food Service
- Retail Environments
- Hospitality

## Portable On-The-Go Dispensing PortaFill Dispensing System

Designed to be safe, ergonomic, transportable and easy to use. The Maintex portable dispensing system is designed with the end user in mind. The PortaFill system reduces the need to fill at the supply closet and takes the dispensing system with the user. The Maintex portable dispensing system is the answer to "on the go" dispensing needs and for compact cleaning supply closets.



# A Complete Line of Concentrates

# We offer a wide range of products to fit a wide range of jobs.



### 2 - Non-Acid Restroom

Product # 110264T1 4 oz/gal Yields 64 gal./256 qt. RTU/case

- Cleans and Deodorizes
- Removes Stains and Soap Scum
- . Fliminates Hard Water Deposits
- · Safe for Natural Stone



#### 5 - Multi-Surface Cleaner

Product # 110564T1 1.25 oz/gal Yields 200 gal./800 qt. RTU/case

- · General Duty All Purpose Cleaner • Non-Streaking/Non-Butyl Formula
- Pleasant Lavender Fragrance



### 8 - Everlasting Desert Breeze

Product # 110864T1 4 oz/gal Yields 64 gal./256 qt. RTU/case

- · Eliminates Odors at the Source
- Delightful Fresh Fragrance
- Non-Staining, Alcohol Free
- May be added to Mopping Solution
- Effective Against Cannabis Odors



#### 12 - Industrial Strength Degreaser

Product # 131064T4 4 oz/gal Yields 64 gal./256 qt. RTU/case

- . Dissolves Dirt and Grease on Contact
- Multi-Purpose Degreaser
- . Excellent for Food Processing Plant



#### 13 - Mr. Digester Kitchen Floor Cleaner/Degreaser

Product # 156964T4 4 oz/gal Yields 64 gal./256 qt. RTU/case

- Concentrated
- Fortified with Live Bacteria
- Fliminates Grease and Odors
- For Kitchen and Food Service Areas



## 3 - Enzyme Cleaner &

Product # 110364T1 2 oz/gal Yields 128 gal./512 gt. RTU/case

- Uses Multiple Bacteria Strains
- Digests Grease and Organic Waste
- · Eliminates Soils, Stains and Foul Odors



### 4 - Glass & Mirror Cleaner

Product # 110464T1 2 oz/gal Yields 128 gal./512 qt. RTU/case

- . Non-Streaking Formula
- . Simply Spray and Wipe
- Multi-Use Cleaner
- Ammonia Free



#### 6 - Really Lemon Deodorizer

Product # 110664T1 4 oz/gal Yields 64 gal./256 qt. RTU/case

- Eliminates Odors at the Source
- Energizing Lemon Fragrance
- Non-Staining
- Safe for Use on Most Surfaces



#### 7 - Linen Fresh Deodorizer

Product # 110764T1 4 oz/gal Yields 64 gal./256 gt. RTU/case

- Eliminates Odors at the Source
- Pleasant Lavender Fragrance
- . May be Added to Laundry
- . Safe for Use on Most Surfaces



#### 9 - Daily Floor Cleaner

Product # 118464T4 1 oz/gal Yields 256 gal./1,024 qt. RTU/case

- Rinse-Free Neutral Cleaner
- Pleasant Lemon Fragrance
- . Light Duty Spray & Wipe Cleaner
- Will Not Dull Finished Floors



#### 201 - Prespray & Heavy **Duty Spotter**

Product # 153064T4 4 oz/gal Yields 64 gal./256 gt. RTU/case

- Fast Acting Carpet Prespray
- Eliminates Most Stains and Spots
- Safe for Use on Most Fabrics



### 11 - Purple Degreaser

Product # 119164T4 2 oz/gal Yields 128 gal./512 qt. RTU/case

- Dissolves Grease
- Lavender Fragrance
- · Excellent for Kitchens and Industrial Settings



#### 204 - Final Step Carpet Rinse

Product # 157364T4 1 oz/gal Yields 256 gal./1,024 qt. RTU/case

- · Revitalizes Fabric and Upholstery
- Prevents Browning and Streaking
- Eliminates Detergent

# Products to Clean, Disinfect, & Sanitize



### 14 - One Step Disinfectant **Deodorizer Cleaner**

Product # 146164T1 2 oz/gal Yields 128 gal./512 qt. RTU/case

- · Disinfectant and Sanitizer
- For Hospitals, Veterinary, and more . Effective against Staph, Strep, H1N1, Norovirus and more
- Lemon Fragrance & High pH



#### 17 - Sani-Cide 94 Disinfectant Sanitizer

Product # 145364T4 0.25 oz/gal Yields 1,024 gal./4,096 qt. RTU/case

- . Disinfectant and Sanitizer
- · For Food Processing Areas and other Food Contact Locations
- Effective against Pseudomonas, Staph, Salmonellan, and E. coli
- . Neutral Fragrance & pH



#### 15 - Citra-Cide Neutral **Disinfectant Cleaner**

Product # 145464T4 2 oz/gal Yields 128 gal./512 qt. RTU/case

- Multi-purpose Disinfectant and Cleaner
- · For Healthcare Institutions and other Establishments
- Effective against Listeria, MRSA, Adenovirus, SARS and more
- . Lemon Fragrance and Neutral pH



## **Disinfectant Cleaner**

Yields 85 gal. / 340 gt. RTU/case

- One-Step Acid Cleaner, Disinfectant
- · Dissolves Soap Scum, Mineral Deposits, Rust, and Lime Soap Buildup.
- · For use on Bathtubs, Shower Stalls, Porcelain, Tile, and Glazed Ceramic



#### 16 - Retaliate Neutral Disinfectant Cleaner

Product # 146264T4 0.5 oz/gal Yields 512 gal./2,048 qt. RTU/case

- Disinfectant, Cleaner, Deodorizer
- For Heavy Duty Cleaning and Odor Control
- · Effective Against Coronavirus, Influenza,
- · Lemon Fragrance and Neutral pH

HIV, and more



# **Environmentally Preferable Products**

We offer environmentally friendly products that meet strict environmental, health, and safety criteria. These products are EPA certified Safer Choice and Green Seal certified.

### Safer Choice Certified Products





#### 401 - General Purpose Restroom Cleaner

Product # 184264T1 4 oz/gal Yields 64 gal./256 qt. RTU/case

- Non-Corrosive Formula
- Biodegradable
- Removes Mineral Deposits, Soap Scum and other Soils



# 402 - Glass & Surface Cleaner

**Product # 181864T1** 2 oz/gal Yields 128 gal./512 qt. RTU/case

- Meets Strict Environmental, Health and Safety Criteria
- Contains No Petroleum Distallates
- Biodegradable



#### 403 - Heavy Duty Cleaner Degreaser

**Product # 182964T4** 1.5 oz/gal Yields 200 gal./800 qt. RTU/case

- Contains Emulsifying Agents and Solvents for Oil and Soil Removal
- . NSF Certified for Food Processing Areas



#### 404 - All Purpose Neutral Cleaner

**Product # 183964T4** 0.5 oz/gal Yields 512 gal/2,048 qt. RTU/case

- Neutral Cleaner for Washable Surfaces
- Will Clean Floor Surfaces without Dulling the Finish



### 405 - Multi-Use Oxy Cleaner

**Product # 184064T4** 1.5 oz/gal Yields 200 gal/800 qt. RTU/case

- Formulated with Hydrogen Peroxide,
- Solvent-Free
- Great for Counter Tops, Granite and Stainless Steel



#### 406 - Pacific Breeze Odor Eliminator

**Product # 182264T1** 4 oz/gal Yields 64 gal./256 qt. RTU/case

- Eliminates Odors in the Air and on Fabrics
- Safe to Spray on Most Water Safe Ffabrics
- Leaves a Fresh Pacific Breeze Scent

EPA/Safer Choice recognition does not constitute endorsement of this product. The Safer Choice logo signifies that the product's formula, as Maintex, Inc. has represented it to the EPA, contains ingredients with more positive human health and environmental characteristics than conventional products of the same type. EPA/Safer Choice relies solely on Maintex, Inc., its integrity and good faith, for information on the product's composition, ingredients and attributes. EPA/Safer Choice has not independently identified, that is, via chemical analysis, the ingredients in the product formula, nor evaluated any of Maintex, Inc. non-ingredient claims. EPA/Safer Choice provides its evaluation only as to the product's human health and environmental characteristics, as specified in the Standard and based on currently available information and scientific understanding.

### **Green Seal Certified Products**



#### 301 - Glacier Glass and Surface Cleaner

**Product # 180364T1** 1 oz/gal Yields 256 gal./1,024 qt. RTU/case

- Glass and Surface Cleaner
- Formulated with Hydrogen Peroxide
- Leaves No Residue, Streak-Free



#### 302 - Pristine Cleaner Degreaser

Product # 164464T4 3 oz/gal Yields 256 gal./1,024 gt. RTU/case

- · Powerful Cleaner/Degreaser
- For All Water Safe Surfaces



#### 303 - Shimmer Restroom Multipurpose Cleaner

**Product # 143264T1** 2 oz/gal Yields 85 gal./340 qt. RTU/case

- Restroom and Multipurpose Cleaner
- Removes Unpleasant Odors and Mineral Deposits
- Formulated with Hydrogen Peroxide



#### 304 - Trailwinds Floor Cleaner

**Product # 120164T4** 2 oz/gal Yields 85 gal./340 qt. RTU/case

- Floor Cleaner with Hydrogen Peroxide
- Will Not Dull Floor Finish





#### 305 - Impact EES Environment Extraction Solution

**Product # 151864T4** 1.5 oz/gal Yields 200 gal./800 qt. RTU/case

- Carpet Prespray and Extraction Cleaner
- Versatile Product for All your Carpet Cleaning Needs
- Repeated Applications Provide Resoiling Protection

### City of Industry, CA Corporate Headquarters, Manufacturing and Sales

13300 E. Nelson Avenue City of Industry, CA 91746 (800) 446-1888 or (626) 961-1888

# Poway, CA Branch Sales and Warehouse

13575 Gregg Street Poway, CA 92064 (800) 261-4456 or (858) 513-8286

For more information, contact your Maintex Sales Representative.

Visit us online at www.maintex.com or order online at https://store.maintex.com.